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printf("He said, "I love you.".");
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printf("He said, \"I love you.\".");
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%0000000000000000000000D000dD 1000000000000 OprintfO00O0O
00000000%0d00000000000000000%4d000000004000000000
obooobooboooooboooooooa
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a0 | %d %4d

12 12 12
123 123 123
1234 | 1234 | 1234

gooo

0000000000000 00000O (printf.c)
O #include <stdio.h>

main(){
int 1i,j;
i=3; j=b;

printf ("i+j=ld i-j=id \n",i+j,i-j);
}

gbooobooooooobooo

i+j=8 1i-j=-2

gboboobobobobobooobooboooboboooboooboobooooobooboobobboo
O00000%000000000oooooooo

44.4 0000000 (0OO)

gobboodooobooooooboboobboobOoboOobOobOoobOOobOobobOobOoboOoboobon
obooobOooooboobooooooo

D

No No A

A

Yes Yes
B B C g OO
B
Yes
D
C . .

if (A) B; if (A) B; else C; |
C

A; B; C; for (A;B;C) Dy

13



oooocoil10ooo1000ooooooooooooOoooooooooooooooooboOoo
booboobobobobobololobobooOooobobooboboobobooboooooooooo
ooo

4.4.5 for[

for00 COO0OODOOODOOO0OOOOOODOOOOO0OOODOODOOOO0OOOODOOOOOODO
goooooboobo

[ O0for (O ;0 ;0 )0 ; gooobooooo J

OoOoooooO0o0ooOoo0oOoooobooOoootferdgoooOOOoO0OoDOOOOKOO0OODOOO
goboooooooooooooboooboboooboboobbooooooooobobboobboobooobooo
for00D0O000DOO0O0000O0O0O0O0O0OO0OO0ODOO00O0O0O0O0O00OOOOOODODODODODOOOO

000 for (i=0;i<100;i++) printf("%d\n",1i);

000i++000000000000000000DOiOD000 10D0DDOOD0O0cCoO0ogoooooog
1i000000ooOooooooogooo:iooolo00bbooooo0obOooooOoicgonoiooonoo
00dooooooooooooooDmiooodo0oooooooooDi0ooD1000oooooog
oooooooooooooooo

000000000000000000000000{}000000000000000000 HaHaHa
OCyaCyaCya0OODOOOOO1000000000DOO HaHaHaO 10000000000 CyaCyaCya
ooooo

for (i=0;i<5;i++) { for (i=0;i<5;i++)
printf ("HaHaHa\n") ; printf ("HaHaHa\n") ;
printf ("CyaCyaCya\n") ; printf ("CyaCyaCya\n") ;
}
ooo
HaHaHa HaHaHa
CyaCyaCya HaHaHa
HaHaHa HaHaHa
CyaCyaCya HaHaHa
HaHaHa HaHaHa
CyaCyaCya CyaCyaCya
HaHaHa
CyaCyaCya
HaHaHa
CyaCyaCya
gooo

bbooooboooobobooboobooooooboobOoOoboOobOobooooOoOobOOobo0oooboOono
OO00000000O00fr0000DO0OO0D0DODOODfr 000 catODOOODOOOODOODODOO
0000000000000 000000000000O000D000000aO (for.c)

O #include <stdio.h>

main(){
int i;

14



for (i=1;i<10;i++) printf("%d %d %d\n",i,i*i,ixi*i);
for (i=0;i<200;i++) printf("cat ");
¥
oooooad

1.00000000500000200000000000000 (tanuki.c)

00
(0.0)
=( X ):
Uuu

2.0000000000000000000ODO00O (kuku.c)

*x% The Multiplication Table *xx
1 2 3 4 5 6 7 8 9
2 4 6 8 10 12 14 16 18

ugd o
9 18 27 36 45 54 63 72 81

4.4.6 0O00O0OO (scanf)

00000 00000000DO0O00000OD0000D0O0scanf0000O0OODOODO

[ scanf ("%d",&i) ; gbidooooooooooobossoboooban J

&LOOOODDOOO0O0OCODOOO0D0DOD&OOODOIO00OOO0O00DOODOOO0DODOO0O0DODOOOSscantO
0000O0%0000000000000000000 1000000000000 0O0D00OOoOo
o0o0(@bo0)boooooooooo

oooao
DDDDEII]DDDDDDDDDDDDDD(scanfc)
#include <stdio.h>

main(){
int x,y;

printf("x = ");scanf ("%d",&x);

printf("y = ");scanf ("%d",&y);

printf ("x+y=%d, x-y=%d, x*y=/d, x/y=%d\n",x+y,x-y,x*y,x/y);
¥

scanf0 0000000000 O0D0OOO0D0OO0000000 scanfO000 printf000000O0O0O0O
ooobooooooooooboooooon



4.47 0000 (if)

goboooboobbooooboooooooooooooooooboooooooobobbOonoooa
Ub00O0db0OO0yesOOOnoOOOOOOOOOOOOOOODOOOODOOODOOODOODOOOOOOO

[DDif (0o) O; oooobOooboobogon J

gbhobooboobobobobooboobo

[I:IDif (OO)H)ODO; else O gbooooobooooooooooooboooon j

oboooooboboooooboooooobooboboooooooboooboooboboooooobooooboo
oooo{joo0oooOooooooo

x<5 gooosboooogn x==b 00005600000

x!=5 obooosbo0oooonog x<=b 0000000000000
(x==3) || (x==b) gbo300bgdsbogood

(x>6) && (y<3) gbOsbooboogobobobs3bobogo

00000000200000000000003000000000000000000002000
000000000000000000000x0y0z0000000000x==y==,0000000
(x==y) && (y==7) 00000000000

oooao
ooono EII]DDDDDDDDDDDDDD(hantei.c)
#include <stdio.h>

main(){
int h,w;

printf("Height (cm) = ");scanf("%d",&h);
printf("Weight (Kg) = ");scanf("%d",&w);

if ((h-100)*0.9>w) printf("You are smart!\n");
else printf("You are too heavy!'\n");

oooooo

1. 000000000bbogoboOoi1o01oo00b0b0ddIloveyou.OODODOOOODOODOOO
0000000000000 00oooO0oUono(2kou.c)

Height=1770 Height=1500 Height=1900
Income=15000 Income=2000[] Income=6000
I love you. Bye bye, you are too small.[ Bye bye, you must work hard.

2.30000000000000000O0L0O0O0O0DO0OD0O0D00000O (max3.c)

A=5[] A=70 A=70 A=8[]
B=6[ B=30 B=120 B=50
c=70 c=40 c=80 c=80
Max=7 [ Max=7 Max=12 Max=8

16



gooaooo

1.3000000000000000000000DO0UD0O0000O (sort3.c)

A=50] A=70 A=70 A=801
B=60 B=30 B=120 B=50
c=70 Cc=40 c=80 c=80

Answer=7, 6, 5 Answer=7, 4, 3 Answer=12, 8, 7 Answer=8, 8, 5

2. 000000000000000 |:||:||:||]|:||:|D|:||:||:||]D|:||:|DDDDDDDDD(Bk&ku.CDBk&kua.CD
3kakub.cO 3kakuc.c)

Size=80 Size=70 Size=60 Size=50
X 0 xxxxxxx 0O x0 XXXXX
XX 0 xxxxxx O xx O XXXX
XXX 0 xxxxx O xxx [ XXX
XXXX O xxxx O xxxx [ XX
XXXXX 0 xxx O xxxxx O bd
XXXXXX 0 xx O xxxxxx [

XXXXXXX 0 x

XXXXXXXX

4.4.8 000 (1)

obOoobOoboboooboobobooobooobbOOobooobobOooooooobOoboobooboOoooo
goooobooboobooboooooobooooooboooobooboobooobooooobooboo
booobooooboooboboooobobouooobobooboooboobooooobooooo
booobooboooboooobooooboboboooobobooooooboobooobobooooDo
oboooboobooooog

gooboooboooobob0oooboobooboooooooobfrDb0bObDODODOOO
ubooobooobooboobobooboboouoboobooooooooob1booboooobooboboOoooboon
googg

#include <stdio.h>

ooad
main() {
int i,n,s; N =50
Sum = 15
printf ("N = ") ;scanf ("%d",&n);
s=0;
for (i=1;i<=n;i++) s=s+i; N =100
printf("Sum = %d\n",s); Sum = 55
t
oooooad

1. 0000 )0000000000000000 n!=1%2%3%_*(n-1)*n 000 O (kaijo.c)

N=50
N!'=120

2.100n00000000000000O000O00O0OO (kisuwa.c)

N=150
Kisuwa=64

17



gooaooo

1. nC'r(nDIZIDDEIrDDDDDDDDDDDDD:nC’r:#TE)!H)DDDDDDDDDDDDDDD
0000000 fr0 10000000000 (ner.c)

N=50
R=30
nCr=10

2.100200000000000000000O00O0ODO (kisuwaa.c)

N=150
1+3+5+7+9+11+13+15=64

4.4.9 whilel
for0000000000O000DODOODOOOOO0ODOOOO0OODOO0OO0OODOODODOOn

—

A

SO

No

do A; while (B);

while (A) B;
== for (;A;) B;

O00whileOOOOOOODODOOOODOOOKOOOOOOOOOOOOOOOOODDODOOOODOOO
00000O0oKODOODOOOODOUOOOUOOooUooOoUfer(;O;) 0;00000000000

OOO0OwhileDOODOOOOOOOOODODOOOOOODODOOODOOOOOOKOOOOODOOOO
O000o0O0O00oKOOOOOOOOOOOooooOOoOwhileDOOOOOOOOOOOOOOOOO
whileOODOOOOODDOOOOOODOODODOOOOwhileDDODOOODODOOOOODDOOOOODO

oooooog

oooooo

1.000000000000000000000000000000 (ged.c)

18



x0oo G.C.D.=3

Yes

Y < y-X X « X-y

! |

2. 000000000000000020000000003000100000000O00000O0O
Og010000o0000o000o0o00boco0oo0oo0ooo0oooOo0ooo0ooobooooooooon0ono
(test231.c)

x = 50
x = 16
x =8
x =4
x =2
x =1
oooooOoo

1. 000000000000 000000 (lem.c)

X=120
Y=150
L.C.M.=60

2. 0000000000 O00DOO020000000003000100000000O000O0OOAO
goilioooooooboboooobooboooooobooooooboboooobUoDbOoo
0000000000000 00000000000000 0 (test231n.c)

u
6

G W N =M
=N 0= O

4.4.10 00O (2)

gobooboooooooooboobobooboboboooooboooboboooooooDOoooboOon for
booooobooooboboooooboboooooobooooooobooooooobooooo
gooooobooobooobobooooooboooooog

19



#include <stdio.h>

main() { ooad
int i,m;
Data = 50
m=0; Data = 30
do { Data = 100
printf("Data = ");scanf("%d",&i); Data = 00
if (i>m) m=i; Max = 10

} while (i>0);
printf("Max = %d\n",m);

¥
oooooo
1. 00000000000 000000o0oD0o
2. 000000000000000O00000000O00O0O0O0O0OO0OO0O0O0O0OOO0OOOo o000
000000 O (heikin.c)
Data=200
Data=30 [
Data=10[
Data=40 [
Data=0 [ O0o0o00o0ooonooo
Mean=250 0 00 (20+30+10+40) /40
oooooo

1. 0000000000000 000000000000O0O0O0O0O0O0O0O0O0O0O0b0O0b0O0b0O00ono0O
DDDDDDODDDDDDDDDD(mminl.C)

Data=200
Data=300
Data=10[
Data=40 [
Data=0[]
Min =10

2. 00000000000000000000000000O00O0O0OC0OOOOOOOOOOCOOOO
gofooo0ooooooooooooooooo oo ooboobobOoOooooboobo
0 O (mmin2.c)

Data=200 Data=00
Data=300 No Minimum
Data=-100

Data=40 [

Data=0[]

Min =-10

4.4.11 0O0O0O0O

0000000000000 o00o0o0o00o0oU0oOO0o/*0 */0000000000 breakd
gooobooooon

20



4.4.12 break

break 0000000000000 (for0D0whileDO)0O00O0O0O0O0O0O0ODO0OODOODOOOOO
OO0000000OoO0o00OO0o00OOo00oOobOO0OOOo0OoOO0O0OOOO0breakdDOOODOO
oooobobooooboooooo

/* o0o0DOoOo0oDOoDOOdsx/

#include <stdio.h>

main(){
int i,s; /#0i000000000s0000000O0DO0DOO000O000 %/
printf("?=");scanf ("%d",&s);
for (i=2;i<s;i++) /¥ 200 s-100000000000 */
if ((s%i)==0) /000s04i0000000000O */
break; /x forOOOOOO */
if (i==s) printf("%d0000000\n",s); /+ forO00O00O0O0DOODOODOO i==s00000O*/
else printf("}d00000000O%A00000\n",s,i);
3
oooooad

10000 0000000000000 000O0OO(s1000.c)

2 3 5 T 11 13 17
73 79 83 89 97 101 103
179 181 191 193 197 199 211

oooooo

1.0000000000000000000000O0 (bunkail.c)

N=1200
120=2%2%2%3%5

2.000000000000000000O0D00O0OO (bunkai2.c)

N=1200
120=2"3%3"1%5"1

4.4.13 OO

0000000000000000000000000000000000000000000000
000000000000 Oint a[10); 0000 Daj0]0a[l]0a[2]0... a[9)0000000 10000000
oooooo

0000[]00000000000000000000000000000000000000000
0000000000 Oscanf("%d",&x); 000000 x00000000000scanf("%d",&alil);
00D0i0000000a00000000000i0009000a/9)0000000000000000
0000000000000i00000000000000000(]000000000000000
000000000000000000000000000000000

0000000000000000000000000000000000000000000000
000100scanf()000000000000000000000

21



#include <stdio.h>

main(){
int i,n,datal[100];

printf ("How many data? = ");scanf("%d",&n); /* 00000000 0O0O0O =%/

for (i=0;i<n;i++) { /¥ 00000000000 =/
printf("data=") ;scanf ("%d",&datal[i]);

¥

for (i=n-1;i>=0;i--) /* ODO000O00O000000 *x/

printf (" %d",datali]);
printf ("\n");

}

How many data? = 40

data=10 10 datalo] OO O

data=20 20 datal1]1 000

data=30 30 datal[2] 000

data=40 40 datal[3]1 00O
4 321

i--0i++0000000000:00001000000

gooaooo

goooooooooooooooooooboobobooobooooooboooOooooooooooono
00000000 (reverse.c)

data=50

data=80

data=90

data=00
985

gooooao

Oo000ooO0oooooooooooooobooo0l1000b00o00o0ooo00o0oo00oooooooon
godoooOo0ooOo0oooooooo0oooooooooooOoooooooobOoOooobOoOooobOouoo
000000 (variance.c)

data=100

data=300

data=200

data=400

data=00

Mean=25 Variance=125

4.4.14 0O00OO0ODO

cooOooOoooOooOoOoO0OoOoOoooooOoOOoOOO0OOOOOCOOOOOOOOOODOOD10O0
0000000000000 02000000(Single quote)l0D00O00O0D0OOODOOOODOOOO
0000000000000 0000000000”abc”"000000 " (Double quote)D000OO00
oooooobooo»oobobbooooooboboboboDooboD”l haveapen.”’0 10000
good

O00o0ooooooooooooooDoOoDODOO0OD00O0000 00000 charOOODOOODDO
oboboob1l1ooolooboooooooobooboooobooooooooobooobobobooboon

22



oo0oo0o0oooool00000oo0oooooooooooooN\(ooo)oooooooo
OwordJDOOODOOODO0O”pat”0 0000000000 Oword[0] 000 word[1]0 O’a’0 word[2)
00 ¢Oword[300°\0’000000

word | 0] 11 T2 T3] Tia) ] |29
oo | b | |t |\ |7 | .7

000000000000000100000000000000000000000 word[0]="h"; O
OO000O0wordJODODOOODhat” 0000000 ODOOOOOCOODODOOD ™ DDODOOOOOODO
ooooobooooooboobooooooobo

#include <stdio.h>

main(){

int i,Len;

char word[30]; /* O003000000000000 */

printf("Word = ") ;scanf ("%s",word); /* 000000000%s0000&O0 [ 1000 %/

for (Len=0;word[Len]!=’\0’;Len++) ; /¥ O001000000000000000 */

printf("Word Length=%d\n",Len);

for (i=Len-1;i>=0;i--) /« 0000000000 */
printf ("%c",word[i]); /* 000000000%0000 */

printf ("\n");
}

Word = computer [
Word Length=8
retupmoc

0000 scanf()0 printf() D00 %d0000000000000000%s000000%c00000
boooboooobooooboOooboooobOobooogoon

ooo ooo oooad

00 | int n; char ¢; char s[80];

O0 | scanf("%d",&n); | scanf("%c",&c); | scanf("%s",s);
00 | printf("%d",n); | printf("%c",c); | printf("%s",s);
00 | n=10; c="x"; oad

gooooao
1. 00000000000 (aDe0iDo0w)0 0000000 DO0O00O0ODOO0ODOOODO (vowels.c)

Word=computer
There are 3 vowels in ’computer’.

word=big[J
There is a vowel in ’big’.

2. 000000000003 00000000000000O000O0O0O0O0DOOODOOOO0ODOOOn
000000003000000000000 (cutd.c)

String=personal [
head=per, body=sonal

23



gooaooo
1. 0000000000000 0000D00000000000 000000 (shortest.c)

Word=book [J

Word=are [J

Word=personal [J

Word=today [

Word=Z [ ~gb00bo0ozoooooooooooooo
The shortest word length is 3.

4.4.15 0O0O0OODOODOO

COO000D0000000000000000000000000000s0t00000000 char
s[100],t[100;000000000000000

O gets(s) sd00000O 0010000 000DO00b

OO puts(s) sd0000o0oooooooo

00 strcat(s,t) sO00000O0DOCOOO0O0tO0O0OCOOODOOOOO

OO0 stremp(s,t) sOO000000D00O0+t0000DOOOODOOOOO

0000 stremp("abce","def") - 000 stremp("abe","abc") - OO

0000 strecmp("def", "abc") -

00 strepy(s,t) tO00000O00O0O

00 strlen(s) sO0Od0Ooogood
strstr(s,t) sO0O0Ot0O0O0O

ooo
ooooooooon

go
ooo
obdsoboooooon
oboobooooooog
goooooooobooobooNLOOobooOoo

COO00O0D0O000O0U00O0U0DO00O0O0OO0s="abe”; 000000000000 strepy(s,”abe”);0
O0000Ogets()Oscanf()000000000000O0OOOOOO00O0O0Ogets()DO0ODODDOODOOO
000000000 Oscanf() 0000000000000 DODOOOOO Oputs(s)d Oprintf("%s\n",s)
oooooooon

000000000000 gets()Oputs() 000000000000 000O00O0OD #include <string.h>
oooooo

gboooboboooobobobooobooon

#include <stdio.h>
#include <string.h>

main(){
char word[20],sentence[80];

printf("Sentence = ") ;gets(sentence);
printf("Sentence Length = %d\n",strlen(sentence));
strcpy(sentence,"") ;strcpy(word,"");
do {

strcat (sentence,”" ");

strcat (sentence,word) ;

printf ("Word = ");gets(word);
} while (strcmp(word,"end")!=0);
puts(sentence) ;

}

Sentence = I love youl
Sentence Length = 10

Word = 10

Word = love [
Word = youl
Word = end

I love you
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gooaooo

1. 000000000000000000000000000000000000000001000
00000000000 (exchg.c)

Full Name=Miki Kunihiro[]
In English=Kunihiro Miki

2.0000000000000000000O0yes00000O00O00OOOO (search.c)

Sentence = I have a book. [
String = ool
yes

. 00b00oooooooboobooboobooboomuoboooobobobooooooooboooon
0000000000000 O (getword.c)

Sentence = I have a book[

Word = I
Word = have
Word = a
Word = book

4.4.16 switchO

oo0obooo0oooOoooobooooobo0ooDoboOoDoo0oooooooDOoOootoDbDooooon
O0000O0000DOO0O000oO0oO00switchOOODOOOOOODODOD

switch (O) {

case [ 0000 ; break;
case 0 : 00O0O0O; break;
default : OOOOO;

gbbooogoooboboobobooooboobooooooobobobobOoobooboobobooboooboOoono
0000000 00000000000 00ono0y{}0000000000000000 breakO0OD0O
goboooobooobooooooooowoooboooooobooobooboooobobobbobooDboo
O00D0O0O0000DO0000oooDOdefaut D000 D0O0O0OO0O0O00O0ODOOOOO0O00O00
OO00000000D00000defanlt0 000000000
gooooao

gbobooooboobooobobOoooobooooooboooboobooboooooobooooooOoonoo
o000 (Doooo*WOoooo*XO0oo0o0o400000*OOO0OO0O*XWOODOoOO)oDov7000O0
uooooooooood

e (UOIMODOOOOO01I03000000
e 1000 MODOODOODOOOODOOOOO203000000
e 2000 ODOODOODOODOOOODODO3O0O0O0O00

e JUOIOMODOODOODO
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e 400 0IMODOODOOOOOO

e 5000 MODOODOOODOODOODO40D0000O0

e 6ULOIMODOOOObBM4000000

000000 (uranai.c)
Ooo00oo00o0oo0n0 = 19590
gooooogog =10
goooooggog =80
OO0000 = 19990

ooooo =60

Oooooo =100
O000419990 60 10000000
gooooooooooooooog
go0ooo0ooooooooooo
ogoooooooo

4.4.17 000000000 (1)

cooooooooOooOoOoOoOooooooOoOoOOO0U0OOooOUOOOoOooOoOODOoOOoOOOoOOOdn
oboooOobOoooOobOobooooobooobobOoboonoonn

000000000000 main(){...}00000000000000000main()0000000O0O0
00000000000000 tekitou()DO0DODO0DO0000000main()0000000000OOO

tekitou(){
tekitou() O OO
¥

main(){
main() 0 OO
}

main()0 0 00 tekiton()0 0000000000 tekiton();0000000000000000000
0000000000 0000000000000000000000000000000000000
00000000000000000000 tekitow()D0000000000000000000000
000000000000 00000000000000000000

tekiton() 000000000000 000000000000000O000000000000O00
0000000000000000000000000

tekitou(){
int i;
i=100;
3

main() {
int i;
i=3;
tekitou();
printf("i=%d\n",1i);
3

000000 0main()000030001000000000 tekitou()ODOODOOOI0 00000000
O0Omain()000000000000O000OOO=30000000000000000000D0O0OO
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ooooo0oo0oooo(oo0o0oD)0o00oUU0o0oL (CoooUo0)Dooooooo
ooobobooboooobooboboooobobooooboboboooooboboooboooooo
obooooOobooboboooooobooooboooooboooooon

int i; /¥ 00000000000000000 =/
tekitou(){

i=100; /x 00 i000000O00O0OO0OCDOODOOOOO =/
3
main(){

i=3;

tekitou();

printf ("i=j%d\n",i);
3

gboo0b0O00i=10000000000000000000int1;00000000000D00D0O00O int
y00ooobooo0o0oooooooooobo0oooooooDbOooooDOobObOoOoooOoDoOObOOi=30
booobOooooobOobooobooooooooboooann

int 1i; / 000000000000 00000 =/
tekitou(){
int i; /* tekitouQO)OOOOO0O0Oi00000 =%/
i=100; /+ OOOO0O0O0Oi000000 */
¥
main(){
i=3;
tekitou() ;

printf ("i=j%d\n",i);
¥

obOoobobooooobooboooooboooooooooon

tekitou(int height){
if (height>170) printf("You are tall'\n");
¥

main() {
tekitou(155);
tekitou(165);
tekitou(175);
tekitou(185);
3

0000000000000 000 ()OO0 mt00D0D000000000000000O0 tekitou()O O
Jdo0000D000o00o0oo0oodooDooo0ooooDoooUooOooDOooooOoOooOooog
0000000000000 00000o0d00o0o0oooooDOo00oOoooOoogn 1550 heightd O
000000000 1650 height 000D O00OD0OD0DODODO40000 height 0000000 O0O0ODODOO 2
OYouaretalDOODOOODOOOODOO

oooooo

1. 000000000000 0000O000O000C000ooO00oobOoO0oooOoooOobooobOobooo
(ox1.c)
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k%% Tick-Tack-Toe Game ***
ver.1l Man - Man

I
11213
| |
———— e ——
| |
41516
(.
———p e ——
| |
71819
| |

==> 1 I:l
I
ol 213
| |
———— e ——
| |
41516
(.
———p e ——
| |
71819
| |
==> 5[]

(I
0ol 213
| |
———— e ——
| |
4 | X1 6
| |
———p e ——
| |
71819
| |

0000000000000 000bPan0 0000000000 0ODOOODOOOOban[3]000O0O
gooooOoooooooOboooooooloooon-10booXpooooooooo

intialize()Oinput()Odisplay )00 D0 00000000000 Omain() 0000000 O0O0ODOO

main(){
int 1i,j;
initialize(); /* 000000000 ban[ 1OOOO =/
display(); /* ban[ 1000 %/
j=1; /¥ jO000000O00O000O0 */
for (i=0;i<9;i++) {
input(j); /* O000000O0OO0OOO0O0O0OoOooag =/
i=-3;
display(); /¥ ban[ 1000 */
}
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00000000 0Omain()000000000O00O0000COOOOOOOOOOOOOOOOO
OO0display()UO 0000000000 OOO0O0ODOO0OO0ODOODOOOOOOOOOO0ODOOOOO
gboooooobooooooobooo

4.4.18 000000000 (2)

goodoooooooooooo0o0oooooooboooooooooCcooogoooooooDooDo
booooboboobooooboooooooooboobooboboobobobbooboobOobooooo
oo0o000o0o0ooUdO0OvidO0OOO0OOOD(0OOO0OO0O0OODO0ODO0OODOO0OOOO0ODOOOO
0oooooooon)

000000000000 return(...); 00000000 ()O0D0O0O0O0O0OO0OOO0ODOOOOOOO
O0b00D00return000000D0O00D0O0ODO0OO0OO0ODOODOODOODODOODODOOOOO

int abs(int i){ /* abs(O)OOOO0OOOOOO */
if (i>=0) return (i); /* 100000000000 */
else return (-i); /* i0000000ooooono =/

}

main(){

printf("abs(3)=Yd\n",abs(3));
printf("abs(-3)=%d\n",abs(-3));
}

o0oo00ooOoO00oDOodooOo0oogoooooboooooUooDoDoOoOn0bOOON! =
nx(n—1)x(n—2)%..x3x2x 10000000000 fr0000000000O0DOO0ODOOODOOODO
oooobOoboooobog

int fact(int n) {
if (n>1) return (n*fact(n-1));

else return (1);
¥
main() {
printf("6!'=}d\n",fact(6));
¥

gboobooOobooboobooooobobooooooobooboooono

gooaooo

0000000000000 we()D000ODOOD0OOUOUOOODOUOOODOOOOODOOOOOO
000000000000 000000000000000000O0 display()DD0OO0OO0D0O0OO (0x2.¢)

4.4.19 00O

coopoooOoboOopooooOooUObOUOO0oOobOoDOoODOOOO0OO0OOOoOoOoOooDoDOy=1010
O00o00o0o0oooobo0ooooo0ooboobo0oooDj=k=10000000k0O1000000D0O0O
1000;00000oo00oooooo

foorO0O00OOCODODOi+4000D000O04++00000000000COCOCODOiOOOO100
ogoooooboboooooboi1obobooobigbooboooooboooooobooooooboo
gooog
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owari()==10 000000 000000000000000000000000000000#0000
000000000000 if (owari()==1) ...0 if (owari()) ..0 000000000
000000000000 if (ban[l]=1).. 00000000 Oban[1]=10 ban[l]00000000 1
00000000.. 0000000000000000000000ban[l]0000000000000
00000000000000CO000000000000000000000

goooon

0000000000000 Do000000O0O0d(ox3.c)

l.owari()U0DO0O0OD0O0OO0OOOODOODOOXOOOOO300000OD0ODO0OOOUOOODOODO
g3jfoboboooobomoooooboooooooo1oobooooXo3ooooooooooooo
gbbooool1gbooooob3boooobobooobbobooboOobOoooong

2. main()00000000000000000D0owar()0000O00ODO0ODOOOODOODOOOOOO
oooooooooood

4.4.20 OO

gboooobooboboobooboooobooooboooooobooooooobObooobooooDbo
uboobooooboobotboooboobooooooboooooooooooobobooooooban
booooboobooboobooooobooooooobooboooonon

CODrand()D0O0ODOOO0OO0O0ODDOOOOOrand()D0000O0OOOO0ODO21 0000000000
oobooooboooobooooboboboooboboobooooooboboooooooobooooo
gobooboobooolgbeb0obo0oobobooboooboobOobo0oboboOooDooon

#include <stdio.h>

main(){
int 1i;

for (i=0;i<10;i++)
printf("%d ",(rand()%6)+1); /* a % b DaldbO00O0O0OO0D0OOODOO=/
printf ("\n");
}

O0000Orand()000 600000000000 O0O0S0000O00000O0O1I0O00O0O0O1006G
0000000o000o00o00oo0oU0oU0oo0oUooUo0frand)0000000O0O0ODO
booobOooobooooboboooboobobooobooboooooooooooboooooo
ob1o0e000001I0000000000DLOO0O0OO0OOODLOOOOODOOOOOOODOOODOO

0000000000000 0000rand() 0000000000000 0O0OO0srand()00000O0O0O
boooboobooboobooooobooboobooooooobOobooooboOoboOoooobobooon
0000000000000 00000000000000000000000000n getpid)0OO
ooooooboooooooo

#include <stdio.h>

main(){
int 1i;

srand(getpid()); /+ 00000000000 srandO 00000 %/
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for (i=0;i<10;i++) printf("%d ", (rand()%6)+1);
printf("\n");
¥

3252165612

32543234514

goooon

00000000000000000000000 (ox4.c)

1. 00000000000000000000000 wmern()J000000rand()00000 100
0000000000000 000000000000DDOU00UDO0000000 Main()O0O0OO
000000000 mput(j); 0000000000 umern()0000000O0

2. 00uwmern()0 0000000000000 00OO0OO0ODOOODO0OODOOOOOOOOOODOOO
gbobooooboooboooboooooooobooobooooobobbOoOoobooboOooboooo
goooon

3. 0000000000000000000000000 tomeru()JO00Otomern()00000000O
000000000000000000100000000000main()000000O00 Otomeru()
0000000000000 000wmern()000000OOO0OODO

gooooo

00000000000 rand()000000O0ODO0OOOOOOODOO

4.4.21 000000000 (1)

goboboobooboooobooobobobooooooooooboboboobobobOoboOoDo
ubooobooboboooboobobooooobooooooooooooooboooooooobooooo
booooboooobooboboooooboboooooboooboboooooobOoOooobOOooboOon
obobooooobobooooboboboooboooooobobOoobOOobOooooobooboobooooo
ooobooooooooboobooooboobooooooobooooooooobooooobooboboo
gooooo

gbobooobooobobooooooboooo

1. fopen()UODODOO0O0OD0OO0OODOOODOOOOODLOOODODOOODOOOOOOIDOOODODO
gooooooooobooooooooooooooooboooooooobooobbooboobooobooo
O0o0ooooo0oooooUooUoooo0oo(@oOo0ooooUoo0ooo0ooooUoUooo
gooooooooooooooobooboboobooooooooobbooboboooboooboooon
00)OOoOoooOoooooOoooOooOoooOoooooooooo

2.000000000000000O0fscanf) 0000000000 scanf()000000O0O0O0ODO
gboboooobooboooooboooboboobooobooboooboooo

3. 0000000000000 O0Ofdose()DO0DO0OOODO

OO0o000O0O0dataDO0ODOODODOOOCOOOODOOODODOOOOOO
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#include <stdio.h>

main() {
FILE *fp; /* 0000000000000 00D0O0000O0OoDooOoOOoQ */
int i;
fp=fopen("data","r"); /* 00000 (data) OO OO0 () */
fscanf (fp,"%d",&i); /* D00fp00000000scantfO OO0 */
printf("Read Data is %d.\n",1i); /* 00o0o0oobooOOoOooooobooooao */
fclose(fp); /* [D000D000DOO00DOODOOOOOoOoog */
t

0000000000000 000000Ofepen()00000O000O00OO0O0ODOOO Ufprintf()00O
000000000000 fclose()D 0000000000 OD0O00OODOO0OOODdatad0OOOO0O
oooooobobbobog

#include <stdio.h>

main(){
FILE *fp;
int i;
fp=fopen("data","w"); /* 00000 (data)JODOODO (w) */
printf ("Number = ");scanf("%d",&i);

fprintf (fp,"%d\n",1i); /* 000 fHpO00O0000O0O0printfOQOO0O =/
fclose(fp);

oo0poooooboooobobobobb0ooooooboooooobogtfepen NULLOOODODOO
booobobooooooooooboobooboobooooobooboooobooboooboo

gooooao

1. 000000100000000000000000000O (count.c)

2. 0000000000000 0yes000000O00Ono000D0O0O00OOOOO (aru.c)

File Name = count.c
Yes

4.4.22 000000000 (2)

gooooooooooboobooooboooboooooobooooobooboooobooboooboo
ubtooooboooboobotboooboooboooooooobobooooboOoboOooooboooon
O0000O0ooo0Odfscanf()000000000ODOOO-100000000O00O0OOO0ODOOO0OOO
obooooooooooon

#include <stdio.h>

main() {
FILE *fp;
char 1ine[80];

fp=fopen("test.c","r");

while (fscanf(fp,"%s",line)!=-1) puts(line);
fclose(fp);
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O0o00oDDO010D0000000Db0O00O0fgetsD0000DO0OOO00OO0OODOOOOOODO
ooooooOoOoooOooOoOoOoooOboOoNULLODOOOoOooooODODOOO0O0DOObO0oO0oooboobOo
O\n’0000000000000

#include <stdio.h>

main(){
FILE *fp;
char 1ine[80];

fp=fopen("test.c","r");
while (fgets(line,80,fp)!=NULL) printf("%s",line); /+ 800000000 =/
fclose(fp);

0000000000000 0O0000000000OOfopen()DOO”WwO0OO0ODR 00000
oooooooobooooogoooboooooobobooooboobobooobooooooboD»woOoO
booobobooooboooobooobooboobooooobn

gooooao

1. 0000000000000 00000D00000O (linec)

File Name = test.cl
There are 5 lines.

2. 000000000000 S50000000000DO0000OO0O0O0O0OOOOSDOO0OO000DOOO
0000000000000 00000000 (head.c)

. 000000o0ooooosooooooooobooobooooboooosbo0ooooboooon
0000000000000 000000000000000D000000O (tailc)

4.4.23 000OO0ODOOODOOODO

cO000oooooooooOoooooo0o00oooD UnixOOOOOOOOOOOOOOOOOOO
000000000o000o00o(U0bOU0U00d0D0«out00O00OO0O0OOO0ODOODODOOD
00000)00o00000o00oo0ooO000000000O00LObOO0OO0OODOUOOOODDOOOO
U0 md0OO0O0000O0O0O0OOOOOOODOOODOOOOOOOOOOOO

[miwako]%rm aaal]

O00000mO000000 asa0000000O0COOCOODOOOOOODOOOOOOOOOO
00000000000000 main()000 00 main(int arge, char *argv[) D0 000000 Oarge O
argv0 0000000000000 00D0000D000000000000000 main()0000OOarge

O000000+41000000argv[1]0100000000argv(2]02000000000000000
gooobooboooooboooooo

#include <stdio.h>

main(int argc, char *argv[]){
int i;

for (i=1;i<argc;i++) printf("O000 = %s\n",argv[il);
¥
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gboobooooobooooboooooboaon

[miwako]%a.out a b ¢
oooo
oooo
oooo

a
b
c

gooooo

gaooo

l.argv[0] 0000000000000 OOO0O0ODO0O0O0O0O0OO0OO0OOOOOOOOOO

gooooao

1. 0000000000000 0000C00000O00O0O00O0000O0000O000O00O0O0O0O0O000O
00000 (linec.c)

[miwako]l%a.out test.cO
There are 5 lines.
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